
Université de Picardie Jules Verne
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Exercice 1

Soit (xi)i∈N, une suite réelle.

Sachant que
9∑

i=0

xi = 11 et que
9∑

i=0

(3xi + 1)2 = 94, déterminer S =
9∑

i=0

x2
i .

Exercice 2

Soit (xi)i∈N, une suite réelle.

Sachant que
12∑
i=0

xi = 9 et que
12∑
i=0

(2xi − 3)2 = 17, déterminer S =
12∑
i=0

x2
i .

Exercice 3

Soit (xi)i∈N, une suite réelle.

Déterminer l’entier n tel que
n∑

i=0

xi = 10,
n∑

i=0

x2
i = 50 et

n∑
i=0

(2xi + 1)2 = 245.

Exercice 4

Soit (xi)i∈N, une suite réelle.

Déterminer l’entier n tel que
n∑

i=0

x2
i = 37,

n∑
i=0

xi = 42 et
n∑

i=0

(3xi − 1)2 = 101.

Exercice 5

Calculer
+∞∑
k=0

(3 − 2k)

(
1

5

)k

.

Exercice 6

Calculer
+∞∑
k=0

(4k + 3)

(
1

4

)k

.

Exercice 7

Calculer
+∞∑
k=0

(5 − 3k)

(
1

4

)k

.

Exercice 8

Calculer
+∞∑
k=0

(2k − 1)

(
1

5

)k

.


